[image: image1.jpg]



1.. ИЗРАЧУНАЈ :

3 + 5 =

4 + 5 =


6 + 3 =

2 + 6 =

2.. ИЗРАЧУНАЈ И ЗАОКРУЖИ УМАЊЕНИК

8 - 6 =

9 - 5 =


6 - 4 =

7 - 3 =

3.. СПОЈИНАЗИВ И ОДГОВАРАЈУЋИ БРОЈ

9 - 6 = 3

7 - 2 = 5

8 - 3 = 5

     УМАЊЕНИК
         РАЗЛИКА
     УМАЊИЛАЦ
4.САБЕРИ БРОЈЕВЕ 6 И 3.   ______________________

5. БРОЈУ 4 ДОДАЈ БРОЈ 5.   _____________________


1.. ИЗРАЧУНАЈ :

3 + 5 =

4 + 5 =


6 + 3 =

2 + 6 =

2.. ИЗРАЧУНАЈ И ЗАОКРУЖИ УМАЊЕНИК

8 - 6 =

9 - 5 =


6 - 4 =

7 - 3 =

3.. СПОЈИНАЗИВ И ОДГОВАРАЈУЋИ БРОЈ

9 - 6 = 3

7 - 2 = 5

8 - 3 = 5

     УМАЊЕНИК
         РАЗЛИКА
     УМАЊИЛАЦ
4.САБЕРИ БРОЈЕВЕ 6 И 3.   ______________________

5. БРОЈУ 4 ДОДАЈ БРОЈ 5.   _____________________

